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o F = -0 - = m —all
—1+ 2 cos(3a;) — 2cos(3x,) + 2cos(3 13) =0 |cos(3a;)—cos(3a;)+ cos(3a3) =0
—1+ 2 cos(5a;) — 2cos(5a,) + 2 COS(':'CL’3) =0 | cos(5a;)— cos(5a,) + cos(5a3) =0
—1+4 2cos(7a;) — 2 cos(7a,) + 2cos(7a3) =0 | cos(7a,) — cos(7a,) + cos(7a3) =0
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Vrms-1=113.14v at 50 Hz

Vrms-18=31.11 V at =900 Hz

Vrms-20=115.68 at £=1000 Hz

Vrms_22=31.11 V at {=1100 Hz
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Vrms 1=113.14 at =60 Hz

Vrms_18=31.11 V at f=1080 Hz

Vrms 20=115.68 at {=1200 Hz

Vrms 22=31.11 V at f=1320 Hz
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Vrms 1=141.42 V at f=50 Hz

Vrms 16=2.55V at =800 Hz

Vrms_18=44.97V at =900 Hz

Vrms 20=84.99 V at f=1000 Hz
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Vrms 1=226.27 at =50 Hz

Vrms 18=62.23 V at =900 Hz

Vrms_20=231.34 V at £=1000 Hz

Vrms_22=62.23 at f=1100 Hz
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Vrms 1=282.84 V at {=50 Hz

Vrms 16=5.1 V at =800 Hz

Vrms_18=89.94 V at =900 Hz

Vrms_20=169.98 V at £=1000 Hz




